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QUESTION 1

When running a Windows server, which option is used with the ping command to define the number of packets
transmitted? 

A. -n 

B. -a 

C. -r 

D. -v 

Correct Answer: A 

 

QUESTION 2

An administrator wants to harden the security on a web server used for e-commerce. A security scanner provides a brief
summary of the web server: The administrator wans to provide better security for data in transit. Which of the following
would BEST accomplish this? 

A. Disable SSL 2.0 and 3.0 

B. Use a more secure password hashing algorithm. 

C. Enable disk encryption. 

D. Upgrade the OS to a newer version. 

E. Upgrade the web service to a newer version. 

Correct Answer: A 

 

QUESTION 3
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Which of the following is an advantage of blade servers over rack-mount servers? 

A. Reduced power consumption 

B. Enhanced virtualization support 

C. Decreased number of servers per rack 

D. Increased security 

Correct Answer: A 

 

QUESTION 4

Two RAID arrays are created from eight disks. One is created using RAID 6, the other is created using RAID 5 with a
hot spare. Which of the following is the operational difference between these configurations? 

A. RAID 6 has the ability to recover from two disks simultaneously failing. 

B. The RAID 5 array will be significantly faster than the RAID 6 array. 

C. The RAID 6 array will be significantly faster than the RAID 5 array. 

D. RAID 6 has a higher storage capacity than RAID 5. 

Correct Answer: A 

 

QUESTION 5

A server administrator recently replaced an overheating CPU in a server at a datacenter. Following the CPU
replacement, the server logs indicate the server continues to overheat. Which of the following could help mitigate this
issue? 

A. The UEFI/BIOS should be updated. 

B. The CPU should be replaced with a newer model. 

C. The graphics card should be replaced. 

D. An additional fan should be installed in the server. 

Correct Answer: D 
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